H. Geometry – Bellwork #30									Date: _____

1.   Solve this equation.  Justify the steps.			2.   Solve this equation.  Justify the steps.

4x + 7 – x + 3 = 34						5 – 4(2x – 3) = -15

__Steps__		__Reasons__				__Steps__		__Reasons__







[image: ]
3. 







[image: ]
[image: ]
4.  								5.  
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If EF=2x-5, FG=4x—8, and EG = 29, find the values of x, EF, and FG. The drawing is not to scale.

E F G
e
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x w(x) t(x)
1 -1 -3
2 3 -1
3 4 1
4 3 3
5 -1 5

The table above shows some values of the
functions w and t. For which value of x is
w(x) +#(x) =x ?

A) 1

B) 2

C) 3

D) 4
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If x= 37 and y = 18, what is the value of 2x—3 ?

A) 21
B) 15
0 12
D) 10
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If VX + V9 = V64, what is the value of x ?

A) V5
B) 5
C) 25
D) 55




